## AGREEMENT FORM FOR NON-CANDIDATE/ISSUE ADVERTISEMENTS

Date:
4/15/2020
rama ungova para. Antana arawa arawa arawa
e:

Broadcast Length	Time of Day, Rotation or Package	Days	Class	Times per Week	Number of Weeks
		AS	ORDERED		
		See	attack	led	

This broadcast time will be used by: Mountain State Values

Copyright © 2013 by the National Association of Broadcasters. May not be copied, reproduced or further distributed



**REGIONAL REPS** 6505 ROCKSIDE ROAD SUITE 200 CLEVELAND, OH 44131

### **WAXS-FM Order Confirmation**

OrderID:

2873-006

Sponsor:

Mountain State Values (A)

Product:

Mountain State Values (A)

Estimate/PO:

Est# 8573

AccountRep: BillingCycle:

Regional Reps **Broadcast Month** 

InvoiceType:

**Detail Affidavit** 

Run Dates:

4/24/2020 - 5/3/2020

Items Ordered:

28

Ordered Amount: -Agency Commission: \$2,100.00 -\$315.00

**Net Amount:** 

\$1,785.00

Scheduled Station(s): WAXS-FM

Printed 4/27/2020 12:25:11 PM

Page 1

_	Run Dates	Run Weeks	Run Times	Mon	Tue	Wed	Thu	Frl	Sat	Sun	Week Total	Length	Descriptio	Avail Type	Copy ID	Qty	Item Cost	Total Cost
01	4/24/2020 - 4/24/2020	All Weeks	06:00 AM - 10:00 A					2			2	-60	Spot		P2873-001 A	2	80.00	160.00
02	4/24/2020 - 4/24/2020	All Weeks	10:00 AM - 03:00 P					2			2		Spot			2	80.00	160.00
03	4/24/2020 - 4/24/2020	All Weeks	03:00 PM - 07:00 P					2			2		Spot		P2873-001 A	2	75.00	150.00
04	4/24/2020 - 4/24/2020	All Weeks	06:00 AM - 07:00 P					2			2		Spot			2	75.00	150.00
05	4/25/2020 - 4/26/2020	All Weeks	06:00 AM - 07:00 P					_	1		1		Spot		P2873-001 A	1	60.00	60.00
06	4/27/2020 - 5/1/2020	All Weeks	06:00 AM - 10:00 A	1	1	1	1				4		Spot		P2873-001 A	À	80.00	320.00
07	4/27/2020 - 5/1/2020	All Weeks	10:00 AM - 03:00 P		1	1	1	1			4		Spot			À	80.00	320.00
80	4/27/2020 - 5/1/2020	All Weeks	03:00 PM - 07:00 P	1	-	1	i	1			à		Spot		P2873-001 A		75.00	300.00
09	4/27/2020 - 5/1/2020	All Weeks	06:00 AM - 07:00 P	1	1		1	i			À		Spot		P2873-001 A	Ā	75.00	300.00
10	5/2/2020 - 5/3/2020	All Weeks	06:00 AM - 07:00 P	•	•		•	•		1	i		Spot		P2873-001 A	7	60.00	60.00
- 11	5/2/2020 - 5/3/2020	All Weeks	06:00 AM - 07:00 P						1	•	i		Spot		P2873-001 A	4	60.00	60.00
12	5/2/2020 - 5/3/2020	All Weeks	06:00 AM - 07:00 P						•	1	i		Spot		P2873-001 A	i	60.00	60.00

**Broadcast Month Projected Billing:** 

Apr-20

680.00

May-20

1,420.00

Jun-20

0.00

Q2-2020

2,100.00

Confirmed Correct; Payment Guaranteed

WCIR-FM

Southern Communications Corporation OrderID:

306 South Kanawha Beckley, WV 25801

(304) 253-7000

**REGIONAL REPS** 6505 ROCKSIDE ROAD SUITE 200

CLEVELAND, OH 44131

WCIR-FM Order Confirmation

2873-007

Sponsor:

Mountain State Values (A) Mountain State Values (A)

Product: Estimate/PO:

Est# 8573

AccountRep: BillingCycle:

Regional Reps

InvoiceType:

**Broadcast Month Detail Affidavit** 

**Run Dates:** 

4/24/2020 - 5/3/2020

Items Ordered:

35

Ordered Amount:

\$2,645.00

-Agency Commission:

-\$396.75

**Net Amount:** 

\$2,248.25

Scheduled Station(s): WCIR-FM

Printed 4/27/2020	12:25:28	PM
-------------------	----------	----

Liuman	4/2/12020	12.23,20	LM

Page	1

	Run Dates	Run Weeks	Run Times	Mon	Tue	Wed	Thu	Frl	Sat	Sun	Week Total	Length	Descriptio	Avail Type	Copy ID	Qty	Item Cost	Total Cost
01	4/24/2020 - 4/24/2020	All Weeks	06:00 AM - 10:00 A					2			2	:60	Spot		P2873-001 A	2	80.00	160.00
02	4/24/2020 - 4/24/2020	All Weeks	10:00 AM - 03:00 P					2			2		Spot		P2873-001 A	5	75.00	150.00
03	4/24/2020 - 4/24/2020	All Weeks	03:00 PM - 07:00 P					2			2		Spot		P2873-001 A	2	75.00	150.00
04	4/24/2020 - 4/24/2020	All Weeks	06:00 AM - 07:00 P					2			2	:60	Spot		P2873-001 A	2	75.00	150.00
05	4/25/2020 - 4/26/2020	All Weeks	06:00 AM - 07:00 P						1		1	:60	Spot		P2873-001 A	1	70.00	70.00
06	4/27/2020 - 5/1/2020	All Weeks	06:00 AM - 10:00 A	1	2	1	1	1			6	:60	Spot		P2873-001 A	6	80.00	480.00
07	4/27/2020 - 5/1/2020	All Weeks	10:00 AM - 03:00 P	1	1	2	1	1			6	:60	Spot		P2873-001 A	6	75.00	450.00
08	4/27/2020 - 5/1/2020	All Weeks	03:00 PM - 07:00 P	2	1	1	1	1			6	:60	Spot		P2873-001 A	6	75.00	450.00
09	4/27/2020 - 5/1/2020	All Weeks	06:00 AM - 07:00 P	1	1	- 1	1	1			5	:60	Spot		P2873-001 A	5	75.00	375.00
10	5/2/2020 - 5/3/2020	All Weeks	06:00 AM - 07:00 P						2		2	:60	Spot		P2873-001 A	2	70.00	140.00
11	5/2/2020 - 5/3/2020	All Weeks	06:00 AM - 07:00 P							1	1	:60	Spot		P2873-001 A	1	70.00	70.00

**Broadcast Month Projected Billing:** 

Apr-20

May-20

1,965.00

Jนก-20

0.00

Q2-2020

2,645.00

Confirmed Correct; Payment Guaranteed

Accepted for WCIR-FM

**REGIONAL REPS** 

CLEVELAND, OH 44131

### WTNJ-FM

6505 ROCKSIDE ROAD SUITE 200

Southern Communications Corpciano Co

306 South Kanawha Beckley, WV 25801 (304) 253-7000

2873-008

WTNJ-FM Order Confirmation

Sponsor:

Mountain State Values (A) Mountain State Values (A)

Product: Estimate/PO:

Est# 8573

AccountRep:

Regional Reps **Broadcast Month** 

BillingCycle: InvoiceType:

Detail Affidavit

Run Dates:

4/24/2020 - 5/3/2020

Items Ordered:

33

Ordered Amount: -Agency Commission: \$2,485.00 -\$372.75

**Net Amount:** 

\$2,112.25

Scheduled Station(s): WTNJ-FM

Printed 4/27/2020 12:25:44 PM

Page 1

	Run Dates	Run Weeks	Run Times	Mon	Tue	Wed	Thu	Frl	Sat	Sun	Week Total	Length	Descriptio	Avail Type	Copy ID	Qty	Item Cost	Total Cost
01	4/24/2020 - 4/24/2020	All Weeks	06:00 AM - 10:00 A					2			2	:60	Spot		P2873-001 A	2	80.00	160.00
02	4/24/2020 - 4/24/2020	All Weeks	10:00 AM - 03:00 P					2			2		Spot		P2873-001 A		75.00	150.00
03	4/24/2020 - 4/24/2020	All Weeks	03:00 PM - 07:00 P					2			2	:60	Spot		P2873-001 A	ž	75.00	150.00
04	4/24/2020 - 4/24/2020	All Weeks	06:00 AM - 07:00 P					2			2	:60	Spot		P2873-001 A	2	75.00	150.00
05	4/25/2020 - 4/26/2020	All Weeks	06:00 AM - 07:00 P						1	- 1	2	:60	Spot		P2873-001 A	2	70.00	140.00
06	4/27/2020 - 5/1/2020	All Weeks	06:00 AM - 10:00 A	1	1	1	1	1			5		Spot		P2873-001 A	5	80.00	400.00
	4/27/2020 - 5/1/2020	All Weeks	10:00 AM - 03:00 P	1	1	1	1	1			5	:60	Spot		P2873-001 A	5	75.00	375.00
-08	4/27/2020 - 5/1/2020	All Weeks	03:00 PM - 07:00 P	1	1	1	1	1			5	:60	Spot		P2873-001 A	5	75.00	375.00
09	4/27/2020 - 5/1/2020	All Weeks	06:00 AM - 07:00 P	1	1	1	1	1			5		Spot		P2873-001 A	5	75.00	375.00
	5/2/2020 - 5/3/2020	All Weeks	06:00 AM - 07:00 P						1		1	:60	Spot		P2873-001 A	1	70.00	70.00
_11	5/2/2020 - 5/3/2020	All Weeks	06:00 AM - 07:00 P							2	2		Spot		P2873-001 A	2	70.00	140.00

**Broadcast Month Projected Billing:** 

Apr-20

750.00

May-20

1,735.00

Jun-20

0.00

Q2-2020

2,485.00

Confirmed Correct; Payment Guaranteed

Accepted for WTNJ-FM



**REGIONAL REPS** 

CLEVELAND, OH 44131

6505 ROCKSIDE ROAD SUITE 200

WWNR-AM/FM

Southern Communications Corp

306 South Kanawha Beckley, WV 25801 (304) 253-7000 WWNR-AM Order Confirmation

OrderID:

2873-009

Sponsor:

Mountain State Values (A) Mountain State Values (A)

Product: Estimate/PO:

Est# 8573

AccountRep:

Regional Reps

BillingCycle: InvoiceType:

Broadcast Month Detail Affidavit

Run Dates:

4/24/2020 - 5/3/2020

Items Ordered:

45

Ordered Amount:

\$3,405.00

-Agency Commission:

-\$510.75

Net Amount:

\$2,894.25

Scheduled Station(s): WWNR-AM

Printed 4/27/2020 12:26:07 PM

Page 1

_	Run Dates	Run Weeks	Run Times	Mon	Tue	Wed	Thu	Frl	Sat	Sun	Week Total	Length	Descriptio	Avail Type	Copy ID	City	Item Cost	Total Cost
01	4/24/2020 - 4/24/2020	All Weeks	05:00 AM - 10:00 A			100		4			4	:60	Spot		P2873-001 A	4	80.00	320.00
02	4/24/2020 - 4/24/2020	All Weeks	10:00 AM - 03:00 P					4			4		Spot		P2873-001 A		75.00	300.00
03	4/24/2020 - 4/24/2020	All Weeks	03:00 PM = 07:00 P					4			4		Spot		P2873-001 A		75.00	300.00
04	4/24/2020 - 4/24/2020	All Weeks	06:00 AM - 07:00 P					2			2		Spot		P2873-001 A		75.00	150.00
05	4/25/2020 - 4/26/2020	All Weeks	06:00 AM - 07:00 P						1	1	2		Spot		P2873-001 A		70.00	140.00
06	4/27/2020 - 5/1/2020	All Weeks	06:00 AM - 10:00 A	2	1	2	1	1			7		Spot		P2873-001 A	7	80.00	560.00
07	4/27/2020 - 5/1/2020	All Weeks	10:00 AM - 03:00 P	2	1	2	1	1			7		Spot		P2873-001 A	7	75.00	525.00
08	4/27/2020 - 5/1/2020	All Weeks	03:00 PM - 07:00 P	2	1	2	1	1			7		Spot		P2873-001 A	7	75.00	525.00
09	4/27/2020 - 5/1/2020	All Weeks	06:00 AM - 07:00 P	1	1	1	1	1			5		Spot		P2873-001 A	5	75.00	375.00
10	5/2/2020 - 5/3/2020	All Weeks	06:00 AM - 07:00 P				_		2	1	3		Spot		P2873-001 A		70.00	210.00

**Broadcast Month Projected Billing:** 

Apr-20

1,210.00

May-20

2,195.00

Jun-20

0.00

Q2-2020

3,405.00

Confirmed Correct; Payment Guaranteed

Accepted for WWNR-AM

# THIS PAGE MUST BE COMPLETED FOR PROGRAMMING THAT "COMMUNICATES A POLITICAL MATTER OF NATIONAL IMPORTANCE." FOR ALL OTHER ISSUE ADS, PLEASE GO TO PAGE 3.

Programming that "communicates a political matter of national importance" includes (1) references to legally qualified candidates (presidential, vice presidential or congressional); (2) any election to Federal office (e.g., any references to "our next senator", "our person in Washington" or "the President"); and (3) a national legislative issue of public importance (e.g., Affordable Care Act, revising the IRS tax code, federal gun control or any federal legislation).

Does the programming (in whole or relating to any political matter ☐ Yes	in part) communicate "a message er of national importance?" No
For programming that "communicates a mes national importance," list the name of the leg-refers to, the offices being sought, the date(s which the communication refers (if applicable)	ally qualified candidate(s) the programming ) of the election(s) and/or the issue to
N/A	
I represent that the payment for the above deby (name and address):	scribed broadcast time has been furnished
N/A	
and you are authorized to announce the time (hereinafter referred to as the "sponsor").	as paid for by such person or entity
List the chief executive officers or members of directors below (or attach separately):	f the executive committee or the board of
N/A	
For programming that "communicates a mess	age relating to any political matter of

Copyright © 2013 by the National Association of Broadcasters. May not be copied, reproduced or further distributed

national importance," attach Agreed Upon Schedule (Page 5)

## THIS PAGE MUST BE COMPLETED FOR PROGRAMMING THAT DOES NOT "COMMUNICATE A POLITICAL MATTER OF NATIONAL IMPORTANCE"

I represent that the by (name and add	e payment for the above described broadcast time has been furnished lifess).
PO Box 6296, Cha	arleston, WV 25362
and you are autho (hereinafter referr	orized to announce the time as paid for by such person or entity ed to as the "sponsor").
	cutive officers or members of the executive committee or the board of rattach separately):
Lou Ann Johnson	(Chair and Treasurer)
Lou Ann Johnson	(Chair and Treasurer)

### TO BE COMPLETED FOR ALL ISSUE ADVERTISEMENTS

THIS STATION DOES NOT DISCRIMINATE OR PERMIT DISCRIMINATION ON THE BASIS OF RACE OR ETHNICITY IN THE PLACEMENT OF ADVERTISING.